
SECTION A-A

 

DETAIL  B

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT
P

R
O

D
U

C
E

D
 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

1

1

2

2

A A

B B

AA

B

.4434

.1772

3X M4x0.7  THRU

Z AXIS 360 DEGREE BEARING

2 REQUIRED

MATERIAL: ALUMINUM

 

MACHINING NOTES:

STARTING WITH Ø1.250 X 1.420 CYLINDER DRILL CENTER THRU HOLE THEN

USING DIVIDING HEAD OR EQUIVALENT (ROTARY TABLE)

MILL 3 BEARING RECESSES, THEN DRILL AND CBORE M4 THRU MOUNTING HOLES

IF POSSIBLE LEAVE FIXTURED TO DIVIDING HEAD AND ROTATE PART 90 DEGREES, 

INDICATE TO CENTER OF PART AND TOP SURFACE THEN DRILL AND TAP M4 HOLES 

FOR BEARINGS, THEN DRILL, TAP, CBORE HOLE FOR #4 TENSIONING SHCS

1.2500

1.4200

AUXILIARY VIEW

 

.4994

.9173

.1250 REF.

.4375

ALL TOP FEATURES SPACED 120°

SLIT .040 

4-40 UNC THRU

.1290  .5850

 .2190  .4000

.1744

.3842

.1299

.1693

.1770 HRU

 .3150  .1570

.5512



PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT
P

R
O

D
U

C
E

D
 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

1

1

2

2

A A

B B

4-40 UNC - 2B  .50

2-56 UNC - 2B  .75

.3750 THRU

.6000

.75

.200

.100

.100

.650

.375

.2250

.3750

BAR CLAMP

12 REQUIRED

2-56 HOLE IS FOR SET SCREW



PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT
P

R
O

D
U

C
E

D
 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

1

1

2

2

A A

B B

.2362

REAM .1250 THRU

1.20

M6x1 - 6g

.5000

.2362

.1000

TAP M6 THRU

BARRELL RETAINER

UNUSED IN CURRENT DESIGN

MATERIAL: ALUMINUM

EXTRUDER BARRELL

1 REQUIRED

MATERIAL: ALUMINUM OR BRASS



SECTION A-A

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT
P

R
O

D
U

C
E

D
 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

1

1

2

2

A A

B B

A A

1.063

.4201.063.320

.500

.081 .981

.250

.813

.250

.438 THRU

.531

.0962X  THRU

.320

.420

Z AXIS NUT RETAINER

NUMBER REQUIRED: 2

MATERIAL ALUMINUM



PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT
P

R
O

D
U

C
E

D
 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

1

1

2

2

A A

B B

1.0638

1.0638

1.1728

.7868

.9000

.2309

1.3638

1.3638

.7388

.6875

.6689

.6689

.8750

75°

.2061

.37502X  THRU

.37502X  THRU

TOOLING BALL MEASUREMENTS FOR 

REPEATABLE MANUFACTURE OF

REPRAP CORNER BRACKETS

TO BE CUT FROM SCRAP

NUMBER REQUIRED: 6

MATERIAL: ALUMINUM

1.0638

1.0638

2.1369

.5372

1.0731

.5266

.5270

1.0730

15°

.5000

TOOLING BALL



PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT
P

R
O

D
U

C
E

D
 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

1

1

2

2

A A

B B

M4x0.7 - 6H  .7500

2X 4-40 UNC  .5000

.09704X 

.6102

.6102

.5168

.8327

.8327

.3750 THRU

DEPTH OF SLOT 2MM

(OMIT FEATURE - UNNECESSARY)

1.6654

1.6654

.3764

.2000

.2500

.1250 THRU, REAM

.1000

.6210

1.1000

.1875

.2269

.2598

DEPTH OF 

SLOT .260

.1378

.1939

.2500

.5000

.1378

.5000

.8622

1.0000

.478" THICK

 

EXTRUDER BODY

NUMBER REQUIRED: 1

MATERIAL: ALUMINUM

.1250 THRU

2X 4-40 UNC HRU

EXTRUDER CARRIAGE SPACER

NUMBER REQUIRED: 2

MATERIAL: ALUMINUM

 



SECTION A-A

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT
P

R
O

D
U

C
E

D
 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

1

1

2

2

A A

B B

A

A

.1882 REAM

4-40 UNC THRU

DEEPLY KNURL SURFACE

.3250

.4400

.2461

.1625

.4981

.7981

EXPERIMENTAL EXTRUSION PULLEY

NUMBER REQUIRED: 1

MATERIAL: ALUMINUM

 



PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT
P

R
O

D
U

C
E

D
 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

1

1

2

2

A A

B B

.25

.97

8.22

9.13

2.24

6.81

9.06

DRILL CLEARANCE FOR TAPPED

HOLES IN Y AXIS BEARINGS

 

2.35

6.70

EXTRUSION SURFACE

NUMBER REQUIRED: 1

MATERIAL: MDF



PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT
P

R
O

D
U

C
E

D
 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

1

1

2

2

A A

B B

1.42

1.94

2.96

.18

.79

1.00

2X M4x0.7 THRU

.32

2.58

.50

2X .3750 THRU

Y AXIS PULLEY BLOCK

NUMBER REQUIRED: 1

MATERIAL: ALUMINUM



PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT
P

R
O

D
U

C
E

D
 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

1

1

2

2

A A

B B

.157

.157

2.000

.200

3.000

.5001.024

.131

.262

.762

.893

1.024

.375

.1292X 

.357

2.357

.188

Z BELT TENSIONER

NUMBER REQUIRED: 1

MATERIAL: ALUMINUM



PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT
P

R
O

D
U

C
E

D
 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

1

1

2

2

A A

B B

.7500

.1181

.0938

.7874

.5000

M6x1 - 6H  .5

.1250 THRU, REAM

.7500

THERMAL BARRIER

NUMBER REQUIRED: 1

MATERIAL: PTFE (TEFLON)



PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT
P

R
O

D
U

C
E

D
 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

1

1

2

2

A A

B B

.250

3.000

.369

1.094

1.906

2.631

.750

.375

FOUR OF THESE NEED TO 

BE MADE, TWO WITH

CLEARANCE HOLES FOR

4-40 FASTENERS, AND TWO 

WITH 4-40 TAPPED HOLES

.3752X  THRU

.1292X  THRU

Z AXIS BEARING ROD CLAMP

NUMBER REQUIRED: 4

MATERIAL: ALUMINUM



PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT
P

R
O

D
U

C
E

D
 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

1

1

2

2

A A

B B

.129  .354

 .219  .200

4-40 UNC - 2B  .750

.446

.795

1.241

.250

.380

.621

.125

1.200

.354

.887

1.241

.532

1.023

.177

1.064

.125

.750

M4x0.7 - 6H  .750

.1292X  THRU

.438

Z AXIS 180 BEARING

NUMBER REQUIRED: 2

MATERIAL: ALUMINUM

 

1 BRACKET #4 CLEARANCE HOLE

1 BRACKET TAP 4-40



PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT
P

R
O

D
U

C
E

D
 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

1

1

2

2

A A

B B

.1000

.5000

1.7500

2.0049

2.2500

2.6654

3.0000

.2368

.3346

.7868

1.0461

1.3213

1.4961

1.6708

1.9461

2.2053

2.6575

2.7553

2.9921

X AXIS BEARING PLATE

180 DEGREE BEARING SIDE

NUMBER REQUIRED: 1

MATERIAL: .3125 ALUMINUM PLATE

.09608X THRU

2X 4-40 THRU

.43752X  THRU

.12902X  THRU

2X M4x0.7 THRU



PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT
P

R
O

D
U

C
E

D
 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

1

1

2

2

A A

B B

.12

.47

.59

.97

1.09

.13

.25

.50

.63

.75

.13

.34

.13

CLAMP FOR X AXIS BELT

NUMBER REQUIRED: 1

MATERIAL: ALUMINUM

ACCURACY NOT PARAMOUNT

 



PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT
P

R
O

D
U

C
E

D
 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

1

1

2

2

A A

B B

.2368

.7868

2.2053

2.7553

2.9921

1.4961

1.3217

1.2506

1.4961

1.9159

.8858

.7443

.1943

.3346

1.0711

1.9211

2.6575

2.1063

2.2053

2.7553

.1250

.5000

1.3658

1.7500

1.7911

2.0931

2.8327

3.1250

3.4429

4.0531

4.4528

4X M4x0.7 - 6H  .7500

.13404X 

.0850

.2362

.1340

.21703X  THRU

.43752X 

1.0461

1.9461

2X 4-40 UNC THRU

CBORE THESE HOLES

OTHERWISE A COLLISION 

WITH MOTOR

2.9921

4.7874

.08508X  THRU

X DIMENSIONS

 

.8661  .0787

X AXIS 360 DEGREE BEARING

SIDE PLATE

NUMBER REQUIRED: 1

MATERIAL: .3125 ALUMINUM PLATE



 

 

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT
P

R
O

D
U

C
E

D
 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

1

1

2

2

A A

B B

A AB B

.5000

.4781

.2136

.4781

.2136

REFERENCE DIMENSIONS FOR

TOOLING BALL USE, X CARRIAGE BOTTOM

NUMBER REQUIRED: 1

MATERIAL: ALUMINUM

 

23°



PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT
P

R
O

D
U

C
E

D
 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

1

1

2

2

A A

B B

1.9094

1.7323

1.7323

1.6629

.2539

.6161

.9783

.2539

.6161

.6643

.9783

.5040

3.3189

.1875

M4x0.7 - 6H  .5000

.3937

.2500

.3750

.1772

3.6417

3.8189

3.4567

3.5128

3.5689

.2500

.3061 .3622

1.9467

2.4417

.12502X 

PRESS FIT

FOR PIN

.1290

2-56 UNC - 2B  .5000

.2215

.1197

2X M4x0.7 .5000

.12904X 

4X M4x0.7 THRU

BOTTOM HALF OF X AXIS CARRIAGE

NUMBER REQUIRED: 1

MATERIAL: ALUMINUM



PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT
P

R
O

D
U

C
E

D
 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

1

1

2

2

A A

B B

.3750

.5000

3.3189

3.8189

.1875

.1772

.1875

3.6417

1.6629

.6643

.2500

.2500

.5000

.4790 .5210

.0394

.12902X 

.12904X 

4X M4x0.7  .5000

.2539

.9783

1.7087

DEPTH OF SLOT

2MM

 

X AXIS CARRIAGE TOP

NUMBER REQUIRED: 1

MATERIAL: ALUMINUM

ALL HOLES THRU UNLESS OTHERWISE STATED

.1875

.1772

3.6417

3.4567

3.5689

.2500

.3622



PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT
P

R
O

D
U

C
E

D
 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

1

1

2

2

A A

B B

CLAMP 1

CLAMP 2

.7874

.6508

.3074

.3360

TAP M4 THRU

M4 CLEARANCE, CBORE

 

.4800

.3360

.1378

.4874

.6496

.7874

.1905

.2500

.5000

.5982

.1339

.1299

TAP SAME AS 180 CLAMPS

.1378

.3000

.3937

.6496

.1905

.2500

Y AXIS TRIPLET BEARINGS

NUMBER REQUIRED:

2 TYPE 1 CLAMPS, 2 TYPE 2

MATERIAL: ALUMINUM



PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT
P

R
O

D
U

C
E

D
 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

1

1

2

2

A A

B B

TAP SAME AS

 MIDDLE HOLE

180 BEARINGS

 

 

THRU HOLE SAME 

SIZE AS 180 BEARING

 

.129

.138

.394

.650

.787

4.567

4.705

4.961

5.217

5.354

.250

.787

1.010

3.750

4.125

6.900

7.499

7.687

.138

.500

.862

4.492

4.854

5.217

PRINT BED BOTTOM

NUMBER REQUIRED: 1

MATERIAL: .200 ALUMINUM PLATE



PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT
P

R
O

D
U

C
E

D
 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

1

1

2

2

A A

B B

.09

.66

.75

.09

.66

.75

.75

.38

.38

.58

.62

.75

.38

.43

.09

.66

.75

.09

.66

.75

.15

.3752X 

.15

.15

CLAMP BOTTOM

CLAMP TOP

 

Y AXIS BAR CLAMP

NUMBER REQUIRED:

4 TOPS, 4 BOTTOMS

MATERIAL: ALUMINUM

TAP 2 SETS 4-40, DRILL 

2 SETS #4 CLEARANCE



PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT
P

R
O

D
U

C
E

D
 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

1

1

2

2

A A

B B

.2224

.8327

1.4429

1.9000

2.2441

2.9500

3.3750

3.7500

.2224

.3410

.8327

1.4429

1.4500

1.6000

2.3006

2.6500

59°

.3750

.1340

.2000

2X M4x0.7 THRU .13404X 

MATERIAL .3125 PLATE

Y AXIS MOTOR MOUNT

NUMBER REQUIRED: 1

MATERIAL: ALUMINUM PLATE



PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT
P

R
O

D
U

C
E

D
 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

1

1

2

2

A A

B B

.82

.55

.39

.20

.075

.43

TAP 4-40 THRU

Y AXIS BELT CLAMP

NUMBER REQUIRED: 1

MATERIAL: ALUMINUM



PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT
P

R
O

D
U

C
E

D
 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

1

1

2

2

A A

B B

.3360

1.2228

1.4000

.5000

1.0000

2X M4x0.7 THRU

.3750

.1378

.5000

.8622

1.0000

.4375

.7794

.5049

2X M4x0.7 - 6H  .5000

.1770  .2000

Y AXIS 180 DEGREE BEARING

NUMBER REQUIRED: 2

MATERIAL: ALUMINUM



PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT
P

R
O

D
U

C
E

D
 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

1

1

2

2

A A

B B

1.0025

1.1319

1.2500

1.7421

1.7450

2.3094

2.3524

2.9724

3.5224

3.6141

3.6224

.1001

.4499

.5212

.9499

1.3785

1.4499

1.9000

2.5571

3.1673

3.7776

3.9000

4.0000

.3750

.5749

1.3249

2X 6-32 .5000

.12904X 

.13404X 

.2000

.8700 2mm

2X M4x0.7 

3X 4-40 UNC

.8661 6mm

.3750

.3750

Z AXIS MOTOR MOUNT

NUMBER REQUIRED: 1

MATERIAL: ALUMINUM PLATE



PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT
P

R
O

D
U

C
E

D
 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

1

1

2

2

A A

B B

.19

.38

.19

.94

1.14

.38

.57

.25

.18

Z BAR CLAMP

NUMBER REQUIRED: 2

MATERIAL: ALUMINUM



PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT
P

R
O

D
U

C
E

D
 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
E

D
U

C
A

T
I
O

N
A

L
 
P

R
O

D
U

C
T

1

1

2

2

A A

B B

3X 4-40 UNC

2X M4x0.7 - 6H

4X .129

2X 4-40 UNC - 2B  .750

6-32 UNC - 2B  .750.375

.866 6mm

.375

.375

3.060

.249

1.000

1.035

1.500

1.879

2.000

2.900

3.000

.100

.650

1.150

1.315

1.810

2.128

3.060

1.104

1.866

.7501.125

1.875

Z AXIS BASE NUMEBER 2

NUMBER REQUIRED: 1

MATERIAL: ALUMINUM

SORRY ABOUT DIMENSIONING

THE HIDDEN LINES

.188


	360_bearing_rev2
	bar_clamp_revised
	barrell
	bolt_retainer
	corner_bracket_tooling_ball
	extruder_body-1
	extrusion_pulley
	extrusion_surface
	pulley_block
	tensioner
	THERMAL_BARRIER
	Top_Z_Bar_Clamp
	x_180_bearing
	x_axis_180_plate
	x_axis_belt_clamp
	x_axis_motor_plate
	x_carraige_bottom_tooling_measurements
	X_Carriage_bottom
	X_Carriage_top
	y_axis_360_Bearing_clamp
	Y_axis_bed_Bottom
	y_axis_clamp
	Y_Axis_Motor_mount
	Y_BELT_CLAMP
	Y_Carriage_Bearing_base
	z_axis_motor_mount2
	z_bar_clamp2
	z_base_2

